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N.B.: (1) Question No. 1 is compulsory

(3) Figures to the right indicate full marks.
(4) Assume suitable data if necessary.

Q.1 Answer the following:

computatlon '
B) Agility is a NoSQL business driver. Justlfy;,,;,; 5
C) Give the updating buckets approach of IGT.M algorl,hm

index 123456?8

di 5| 2

d2 5 | 2

[10]

[10]
) [10]
i) DBMS and DSMS B
11) PCY Mult;stage and Multlha“
[10]
[10]

“}‘-“Q X A) What’are dlfferqnt reeomme’nder upstonts, Bplain sty onc wiensaple, 111
e ;QS B) Defu”_

b- and Authonty Compute Hub and Authority scores for web.  [10]
oy Q 6 Answer the fol,lowmg [20]

A Core Hadoop Components
B CURE Algomhm

C SON Algonthm and MapReduce
D Matrlx-Vector Multiplication by MapReduce
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N.B.: (1) Question No.1 is Compulsory.

L
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(3 Hours)

(2) Attempt any three questions from remaining questions. - ~

(3) Assume suitable data wherever required but ]ustlfy th
(4) Figures to the right indicate full marks. 25
(5) Answer to each new question to be started on a ﬁ'ESh;iiag

(a)
(®)

(a)

(b)

Elaborate the steps involved in simulation study Why is 1t necessary to have program
and process documentation?

The sequence of numbers 0.63, 0.49, 0.24, 0.89;. and 0.71:has been generated. Use the
Kolmogorov-Smirnov test with o = 0. 9'5 ‘to dctermin I’f‘ e_‘hypotheﬂs thaf” the.

numbers are uniformly distributed o the intérval {0; 1] can. berejected: <.
Use Do.os,s = 0.565.

probability distribution: =
Dallyl),e an ; > gl
Probabilit R 020 @35,030,* 5

Lead time is a 1andom variable givsmby the. folIb,mng dlsmbuti‘on
e LeailJ‘img(Bays);ﬂ P Hards P

; &;bahnlty Y ] 0»3 4o 2 .0 Rl

Determine the leadatrme demaﬁd?c} 5 cycles of simulati

time and demand afe as folloWs

Acs He@tlng and Alr Condltlomng ,seryice ﬁnds‘that the amount of time a repairman

vneeds o ﬁx 4 furnace is uhlfqrml’ymwibm%dhetween 1.5 and 4 hours.

X (,1‘ E md the pr@bablhty that:a rauglom}y selected furnace repair requires more than
72 hours: ‘
(11) Find; the pr "abrllty:that a randomly selected furnace repair requires less than 3
hours ;
(m)Fmd the meqn an standard deviation.
The number of. custofners;arr ug;at Costa Coffee is Poisson distributed with mean 4.

: Generate Porsson vari‘ate ’Use raudom numbers 0.5389, 0.0532, 0.3492 in sequence.

Gwen the followmg data for utilization and time spent in system for the Able — Baker

5-carh0p prob\Lem Caloulate the overall point estimators, standard error and 95%
conﬁdenee mterval fqr the same.
~'3‘*-Grven tom:; 3. 1\8

i) :‘Run;;i‘ S 1 2 3 E
| Able’s Utilization p, 0.808 | 0.875 | 0.708 | 0.842
pe Average system time w, (mins) | 3.74 | 4.53 | 3.84 | 3.98

S (b)What do ‘you understand by calibration and validation of models? How can one

- ‘increase the face validity of a model and validate the model assumptions.

[TURN OVER
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Can we decrease the number of servers?

A

S

(b) Describe briefly Queueing, Inventory and Rehablh _systemis. - »
6. Write short notes on (any two): (&’,0)
(a) Multivariate and Time Series Input Models B
(b) Areas of applications of simulation ,
Imtxahzatlon bias in steady state sxmulgmm ]
s~
N
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N.B. (1) Question No. | is compulsory
(2) Attempt any three questions out of remaining ﬁve .
(3) Assume suitable data if required.

(a) How is quality cost reduced with the use of ERP" Justlfy yom’ answer iy 20 =
(b) What is business modeling? Sl

(¢) Define Lead time and Cycle time.

(d) Explain up-selling and cross-selling thh examples

(a) Explain evolution of ERP w.r.t; MRP; MRPI, s X NS Ho
(b) Explain ERP’s Plant maintenance. module and Material’s management module. 10

(a) What is an enterprise? What:i is, ERP‘? lee the advantages of ERP Dlscuss the 10

future of ERP systems. ( : ,
(b) Explain ERP’s Finance v_m\o‘d‘ulc{,j’ 4 ’4’ , Ty T o 10
(a) List and explain phase‘s of ERPﬂhnplementati'on | 10
(b) List the main variants of E-procurement. Also discuss the advantages and 10

disadvantages of" adoptlng Eupfocurement

(a) Distinguish between EFT and EDI et g O 10

(b) What are the main charactenstlcs of a Demsxon Support System (DSS)? How is 10
a DSS different from a' MIS? ;

Attempt any 4 ' TR N 20
(a) Customer Relationship Managcment !
(b) Buy vs. Build for ERP soﬁware
(¢) E-commerce :
(d) Impactof internet on ERP Prod'u_cts.
(e) Security for ERP systems.

6DF82C5E0ADA74A0273ED7F9184F3C56
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- (3 Hours) Max. Marks: 80

N.B.: (1) Question No. 1 is‘compulsory.
(2) Attempt any Three questions out of remaining Five questions.
(3) Figures to the right indicate full marks.
(4) Assume suitable data if necessary.

Q.1 Answer the following: ‘ + [20]
A) List different Functions of Selection operator? List different techniques to implement
selection in Genetic Algorithms.
B) What are defuzzification methods in fuzzy logic? Explain any one with example
C) Compare and contrast: ANN, Fuzzy Logic and GA.
D) What are the different properties of fuzzy sets?

Q.2 A) The characteristics of the laundry load (inputs) include: The actual weight, fabric types and amount
of dirt. The washing parameters (outputs) include: amount of detergent, washing time, agitation, water
level and temperature. The cleaner laundry,»consefving,Water, and saving detergent, electricity, time and
money needs controlling the above d_ifferehtparameters. Give the initial stage of designing a fuzzy control
for a hypothetical washing machine. v s [10]
Q.2 B) Write back propagation algorithm. Explain how it minimizes the error function. [10]

Q.3 A) What are the different types of artificial neural networks? Explain any two with diagram. [10]
Q.3 B) What is associative memory? Explain how the pattern is represented as a key and

retrieve the values associated with that pattern. [10]

Q.4 A) Design Hebb net to implement logical AND function? Use bipolar inputs and targets. [10]
Q.4 B) What are Neuro-Fuzzy Systems? Explain different steps in Neuro Fuzzy Hybrid system. [10]

Q.5 A) What is linear reparability? Explain with example why single layer perceptron is not

capable of solving linearly inseparable problems. [10]
Q.5 B) Explain McCulloch Pi’tts neuron model with example. [10]
Q.6 Answer the following: [20]

A. Delta Learning Rule

B. Binary Hopfield Network
C. GA-Fuzzy approach

D. Competitive Learning

S X i
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Note:

2. Draw figure wherever necessary.
3. Assume suitable data wherever necessary.

(@)

(®)

(@
(®)

(a)
(b)
(a)
(b)

(@

Wnte shortnotes on: (an" fbur)

B-E. Qem * VI (CRRGR) Mo.7 QOIR
eamp (1T)

[Time: Three Hours]

1. Question number 1 is compulsory. Solve any three out‘di"‘ m2

Consider an apphcatlon that requires 1TB of storage capam_ty el
size is 4 kB. As it is business critical apphcatmn,., ‘
Specification of available disk drive:
Drive capacity = 73 GB; 15,000 rpm; 5 ms
average seek time; 40 MB/s transfer rate
Calculate the number of disks requ1raed'

/_Busmess Impac”t Analysm(BiA)

ok 3k ok sk ok ok ok K KR K
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